[ Answers to worksheet 1:

  1. (3.61, 56.31o)    2. (5.83, 239.04o)   3. (2.24, 116.57o)   

     4. (6.40, 321.34o)                     5. (2.000, 3.464)                       6. (-3.214, 3.830)  

     7. (-1.414, -1.414)                    8. (2.681, -2.250)                     9. (0, 3), (1, 5), (2, 7), (3, 9)    

    10. See Diagram Below    
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   11. See Diagram Below
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12. (-2,-4 )             ]

[ Answers to worksheet 2: 

 1. (a) –1  (b) –10    2. (a) 5  (b) –1    

 3. (-2, -8), (-1, -5), (0, -2), (1, 1), (2, 4), (3, 7)

 4. (a) y = 
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x + 3  (b) y = -2x + 5     5. (a) 3, 1  (b) –2, 5    6.  1    

 7. (a) 7, -3  (b) –2, 0  (c) –2, 1  (d) 0, 5     8. (3.5, 1.5) 

 9. (a) 0.25  (b) 12  (c) F = 0.25L + 12  (d) 89.5 N  (e) 592 N 
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 10. (a) t ( 3  (b) x ( 4  (c) x ( 3  (d) z ( 1  (e) x ( 2 

 11. (a) See Diagram Below
(b) See Diagram Below
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(c) See Diagram Below
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(d) See Diagram Below
 12. (a)  y ( 3x    (b)  y ( 5     (c)  y ( -2x + 5    ]

[ Answers to worksheet 3:

1.  x = 3 , x = -4    2.  x2 + 3x - 4 = 0      

3. (a) (0, 0)  (b) (0, 3)   (c) (3.5, -9.25)     

4. (a) x = -1, x = 1.5  (b) x = 2, x = -4  

5.  x = 2, x = -3    6.  x = 2, x = -3 ]

[ Answers to worksheet 4:

1. (i)(a) y  (b) x
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  (c) g  (d) f     

   (ii)(a) y  (b) 
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  (c) 
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  (d) k

    (iii)(a) 
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  (b) x  (c) l  (d) m    

    (iv)(a) y  (b) 
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 2. a = 0.4, b = 8.6  (i) 94.4  (ii) 11.2    3.  a = -2.05, b = 36   

4. (i)(a) lg y  (b) lg x  (c) t  (d) lg s   

  (ii)(a) lg y  (b) x  (c) lg t  (d) lg s

5. a = 3.0, b = 0.5   

 ]
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[ Answers to to worksheet 5:

1. See Diagram Below
 2.  29.2 N at 59(    3.  23.4 N at 26.3(    

  4.  16.4 m/s at 120(    

  5.  9.5 m/s at 89(    6.  –39.4 m/s
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, 6.95 m/s
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    7.  45.7 N at 15.0(    

8. (a) 50.81 N at 111.91(  (b) 47.63 N at –20.27(    

  9.  29.68 m/s at N 33.58( W 

  10.  49.48 V at 41.66(    ]
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